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Question #1. For the structural system shown,

calculate the force and moment resultants Boom ¢
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Question #2. For the segmented bar shown, calculate the average normal stress over the cross-
sections in all of the segments AB, BC, and CD.

by ey
S e = )
qoﬁlt; T B[ C ot 1Dé\r
= Ne - zofzs;u(‘rﬂ
¢hD 2|'“L

PAGE 2 of 3




ENGR:2750 Mechanics of Deformable Bodies Quiz #1

Question #3. What is the required
diameter of the pin B for the bell-crank
mechanism if the 50kN force at A is
resisted by a force P at C? The ultimate
shear stress of the pin material is

450 MPa, and a factor of safety of 3 is
required.
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